Acromegaly
MCQs




* One of the following incorrect in acromegaly :
Atrophy of sweat glands

* Wrong about Acromegaly :
exophalmous

* Acromegaly not associated with??!!
Osteomalacia

e Correct about acromegaly:
. IGF-1 is the gold standard for diagnosis
. Cardiovascular is main cause of mortality

To

Adult growth hormone deficiency is associated with all except?
. Reduced exercise capacity

. Central adiposity

. Spontaneous hypoglycaemia

PoOT® *

. Deranged metabolism of lipids



Mini-OSCE



Case of acromegaly




Q1 \ mention 2 findings from picture?

1- large chin

2- skin tags

3-large face & ears

Q2 \ mention 2 investigation you should order?
1- oral glucose suppression test

2- IGF-1 level

Q3 \ mention 1 life threatening complication?
Cardiomegaly and heart failure



